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Bl E8 AF_AD c94 568466.ntm 1 1 Please dispose __ those old
newspaper while you’ re cleaning up the room. A out B of C away
D in 2. At present thereisa ___ of iron and steel and more must be
produced. A limit B loss C poverty D scarcity 3. He was
admittance to the concert hall for not being properly dressed. A
rejected B denied C withheld D deprived 4. George has a big coffee
__onthe front of his jacket. A spot B mark C stain D patch 5.The
Christmas presents were all ___ in shiny paper. A done over B done
with C done out D done up L1 1 1-5 BDBCD 101 [ B dispose ofL]
[ 00 How can I dispose of myold coat? 0 1 O 0 200 OO D
Oscarcityld 0 OO OOOOOO O lackd The causal
relationship between scarcity of goods and higher prices is
self-evident. 300 O Bdeny* OO OO DOOOOOOOOO
0 O 0O Odenysbsth O O 0 O O She denied her son nothing.

[ WithholdJ 00 OO OJ 00 He tried to withhold the truth from us.

[ Deprive (of) U O U O OO OOO OO No one should be
deprived of love without the very best of reasons. 401 [ C stainl] [
000000 Gasoline can remove the stain. [ Spot [0 [ [0 [
0 00000 O Give me but one firm spot on which to stand and |
will move the earth.[J Mark Cherishing children is the mark of a
civilized society.J PatchD D OO0 OO0 OO O0OOOODon t
put a patch upon it. 500 O D doupld OO Remember to do up the
china in newspaper. (LJ O O chinald O O O ) 100Test O O O O
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